80 Meters. Sep., Kureldand, for SSN =Very Low, Sigsin S-Unitsfor verticals. By N6BV,ARRL.

utc -->

Zone 00 01 02 03 04 05 06 07 08 09 10 11 12 13 14 15 16 17 18 19 20 21 22 23
KL7 = 01 - - - 2 7 9 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9 8 4 - - - -
Vo2 = 02 - - - - - 7 8 9 9 9 9 9 1 - - - - - - - - - - -
w = 03 - = = 1 5 8 9 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9 7 2 - = = = = =
W= 04 - = = = 4 8 9 9+ 9+ 9+ 9+ 9+ 9+ 9 5 - = = = = = = = =
W = 05 - = = = 3 8 9 9 9+ 9+ 9+ 9 9 1 - = = = = = = = = =
XEl = 06 - - - - 3 7 9 9 9 9 9 9 9 9 6 - - - - - - - - -
T = 07 - - - - - 8 9 9 9 9+ 9 9 8 - - - - - - - - - - -
VP2 = 08 - - - - - 3 9 9 9 9 9 1 - - - - - - - - - - - -
P4 = 09 - - - - - 3 9 9 9 9 9 1 - - - - - - - - - - - -
HC = 10 - - - - - 2 8 9 9 9 9 8 - - - - - - - - - - - -
PY1 =11 - - - - - - 1 6 3 1 - - - - - - - - - - - - - -
CE= 12 - - - - - - 2 8 8 8 8 4 - - - - - - - - - - - -
LU= 13 - - - - - - T 7 7 7 1 - - - - - - - - - - - -
G= 14 - E E E E E E E E E E E E E E E E E E E E E E E
I = 15 - = = = = = = = = = = = = = = = = = = = = = = =
UA3 = 16 - = = = = = = = = = = = = = i1 2 9 8 3 1 - = = =
UN = 17 - - - - - - - - - - - i1 8 9 9 9 9 9 8 7 1 - - -
UA9 = 18 - - - - - - - - - 4 6 8 9 9 9+ 9+ 9+ 9 9 8 2 - - -
UAO = 19 - - - - - - 1 7 7 9 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9 5 - - -
4X = 20 - - - - - - - - - - - - - - i1 7 8 2 1 - - - -
H = 21 - - - - - - - - - - - - - - 1 7 8 9 4 1 - - - -
w= 22 - - - - - - - - - - - - 8 9 9 9 9 9 9 6 - - - -
JT = 23 - - - - - - - - - 3 6 7 8 9 9 9 9 9 9 7 3 - - -
VS6 = 24 - - - - - - - - - 3 6 8 9 9 9+ 9+ 9 9 9 6 1 - - -
JA1L = 26 - = = = = = 3 6 8 9 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9 5 - = =
HS = 26 - - - - - - - - - - 6 8 9 9 9+ 9 9 9 9 6 - - - -
bu= 27 - - - - - - - - 1 5 7 8 8 9 9 9 9 9 8 4 1 - - -
YB = 28 - - - - - - - - - - 8 8 9 9 9+ 9 9 9 8 5 - - - -
VK6 = 29 - - - - - - - - - 6 8 9 9 9 9 9 9 8 7 4 - - - -
VK3 = 30 - - - - - - - - 7 8 9 9 9 9 9 9 9 8 6 2 - - - -
KH6 = 31 - - - 5 9 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9 7 1 - - -
KH8 = 32 - - - - 1 5 8 9 9 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 7 4 - - - - -
CN= 338 - - - - - - - - - - - - - - - - - - - - - - - -
sU= 3 - - - - - - - - - - - - - - - - 3 4 2 - - - -
6W= 35 - - - - - - - - - - - - - - - - - - - - - - - -
D2 = 36 - - - - - - - - - - - - - - - - - - - - - - - -
52 = 37 - - - - - - - - - - - - - - - 1 1 4 1 - - - - -
ZS6 = 38 - - - - - - - - - - - - - - - - - 2 - - - - - -
FR= 39 - - - - - - - - - - - - - - T 7 7 4 1 - - - - -
FJL = 40 - - - - - - 1 5 8 8 9 9 9 9 9 9 8 8 7 5 1 - - -
Zone 00 01 02 03 04 05 06 O7 08 09 10 11 12 13 14 15 16 17 18 19 20 21 22 23

utrc -->
Expected signal levels using 1500 Wand vertical array (4 dBi) at transmitter, over saltwater.



40 Meters: Sep., Kureldand, for SSN =Very Low, Sigsin S-Unitsfor verticals. By N6BV,ARRL.

utc -->

Zone 00 01 02 03 04 05 06 07 08 09 10 11 12 13 14 15 16 17 18 19 20 21 22 23
KL7 = 01 1 4 7 9 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9 8 2 1 1
vz = 02 - - 3 6 8 9 9 9+ 9+ 9+ 9+ 9+ 9 8 7 5 3 4 1 1 - - - -
W = 03 - 3 6 8 9 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9 9 6 3 - - - -
W = 04 - 1 4 8 9 9 9 9+ 9+ 9+ 9+ 9 9 9+ 9 8 6 2 - - - - - -
W = 05 - - 3 7 9 9 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9 8 5 2 - - - - - - -
XE1l = 06 - - 2 6 9 9 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9 8 4 - - - - - - -
T = 07 - - 2 7 8 9 9+ 9+ 9+ 9+ 9+ 9+ 9 9 7 5 - - - - - - - -
VP2 = 08 - - - 4 8 9 9 9+ 9+ 9+ 9+ 9 8 - - - - - - - - - - -
P4 = 09 - - - 4 8 9 9 9+ 9+ 9+ 9+ 9 8 1 - - - - - - - - - -
HC = 10 - - - 2 8 9 9+ 9+ 9+ 9+ 9+ 9 9 8 - - - - - - - - - -
PY1L = 11 - - - - 2 8 8 9 9 9 8 - - - - - - - - - - - - -
CE = 12 - - - - 3 8 9 9 9+ 9 9+ 9 8 - - - - - - - - - - -
LU = 13 - - - - 2 8 8 9 9 9 9 8 1 - - - - - - - - - - -
G = 14 - - 1 2 7 8 8 7 7 1 1 - - - - 1 8 7 7 7 1 - - -
| = 15 - - - 1 1 5 5 - - - - - - - - 1 8 8 8 7 1 - - -
UA3 = 16 - - - - 3 5 - - - - 1 1 9 9 9 9 9 9 8 8 1 - -
UN = 17 - - - - - - - 2 6 8 9 9 9+ 9+ 9+ 9+ 9+ 9+ 9 8 6 1 -
UA9 = 18 - - - - - 1 5 8 9 9 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9 9 8 7 3 -
UAO = 19 - - - 3 8 9 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9 8 5 1
4X = 20 - - - - - - - - - - - 1 6 9 9 9 9 8 4 1 - -
HZ = 21 - - - - - - - - - - - - 1 8 9 9 9+ 9 9 8 4 1 - -
wJ = 22 - - - - - - - - - 4 7 9 9 9+ 9+ 9+ 9+ 9+ 9 9 8 5 2 -
JT = 23 - - - - - - 2 7 8 9 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9 9 7 1 -
VS6 = 24 - - - - - - - 1 7 9 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9 8 5 - -
JA1 = 25 - - - 1 5 7 9 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9 8 5 1
HS = 26 - - - - - - - - 4 8 9 9 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9 8 5 - -
DU = 27 - - - - - - - 4 8 9 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9 7 7 4 - -
YB = 28 - - - - - - - - 6 8 9 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9 9 8 6 - -
VK6 = 29 - - - - - - - 1 6 9 9 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9 9 7 3 - -
VK3 = 30 - - - - - 1 5 8 9 9 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9 9 9 5 1 - -
KH6 = 31 1 4 9 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9 5 2 1
KH8 = 32 - - - 5 8 9 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 7 9 9 8 6 - - -
CN = 33 - - - 1 4 8 8 7 4 - - - - - - - - 4 1 - - - -
SU = 34 - - - - - - - - - - - - - - 5 8 9 9 9 8 3 - -
6W= 35 - - - 1 3 6 8 7 5 - - - - - - - - - - - - - -
D2 = 36 - - - - - 1*  1* - - - - - - - - - 3 7 8 3 1 - - -
5Z = 37 - - - - - - - - - - - - - 1 8 9 9 9 8 5 2 - - -
256 = 38 - - - - - - - - - - - - - 1 8 8 8 8 4 1 - - -
FR = 39 - - - - - - - - - - - - 1 6 9 9 9 9 8 5 2 - - -
FJL = 40 1 1 3 5 7 8 9 9 9 9 9 9+ 9+ 9+ 9+ 9+ 9 9 9 8 8 5 2 1
Zone 00 01 02 03 04 05 06 07 08 09 10 11 12 13 14 15 16 17 18 19 20 21 22 23
urc -->

Expected signal levels using 1500 Wand vertical array (4 dBi) at transmitter, over saltwater.



20 Meters. Sep., Kureldand, for SSN = Very Low, Sigsin S-Unitsfor verticals. By N6BV,ARRL.

urc -->
Zone 00 01 02 03 04 05 06 O7 08 09 10 11 12 13 14 15 16 17 18 19 20 21 22 23
KL7 = 01 9 9+ 9+ 9+ 9+ 9+ 9 6 1 8 8 8 5 3 - - - 1 2 8 2 9 8 8
Vo2 = 02 8 9 6 8 5 1 1 1 - - 1 - 4 1 - - 1 6 9 9 9 8 8 8
W = 03 9 9 9+ 9+ 9+ 9+ 8 2 = = = = = = = = = 8 9+ 9 9 9 9 9
VW = 04 8 9 9 8 5 3 1 = = = = = = = 2 3 5 8 9 8 8 8 8 8
W = 05 8 9 8 7 = 1 = = = = = = = 2 2 1 4 7 8 8 8 8 8 8
XE1l = 06 8 9 9 9 9 8 7 6 6 7 5 5 2 5 5 1 3 8 8 8 7 7 7 8
T = 07 7 9 9 9 8 8 8 8 8 8 7 2 6 7 1 - 4 7 7 4 6 5 5 5
VP2 = 08 8 9 6 4 4 5 6 6 4 - 1* 6 8 3 2 1 4 7 7 7 5 6 6 7
P4 = 09 7 8 8 6 7 8 8 8 8 5 3 7 8 5 2 1 4 5 6 4 5 5 5 6
HC = 10 6 8 9 9 9+ 9+ 9 8 7 5 - - 6 8 1 1 4 5 3 2 2 5 5 5
PYL = 11 1 4 8 9 9 9+ 9+ 9+ 5 7 6 5 3 4 - - - - 2 9 5 - - -
CE = 12 3 6 8 9 9+ 9+ 9+ 8 6 1 - 2 9 8 1 - - 4 3 2 4* 1 1 1
LU= 13 1 4 8 9 9 9 9+ 8 5 - 1 7 8 6 1 - - - - 1 2 2% - -
= 14 - = = = 1 4 8 7 8 9 8 7 5 2 1 1 1 5 9 8 8 5 1
I = 15 = = = = = 5 8 9 9 8 7 6 5 4 1 1 1 5 9 9 7 2 = =
UA3 = 16 = = 1 5 8 9 9 9 9 9 8 8 8 7 4 1 1 2 7 5 2 = = =
UN = 17 8 7 8 8 8 8 8 8 9 9 9 8 5 6 6 7 4 4 5 1 1 1 4 8
UA9 = 18 7 8 8 8 9 9 9 9 9 8 9 8 7 5 4 3 - - - - - 2 7 7
UAO = 19 6 6 9 6 9+ 9+ 9+ 9+ 9+ 9 7 - - - - - - - - 1 9 9+ 9+ 9
4X = 20 - - 1 7 8 8 7 7 8 6 7 7 7 7 7 3 1 5 8 9 7 3 1 -
H = 21 1 4 7 6 9 5 6 6 6 7 8 8 8 8 8 8 8 7 9 9 7 4 2 1
VU = 22 7 6 6 6 6 6 7 8 8 9 9 8 6 3 6 8 7 6 8 9 8 4 2 6
JT = 23 7 5 8 2 8 9 9 9+ 9 9 9 6 2 1 1 2 - - - - - 5 8 8
VS6 = 24 7 6 8 8 7 8 9 9+ 9+ 9+ 9 - - - - - - - - - - 8 9 8
JA1L = 25 9 9 9 9+ 9+ 9+ 9+ 9+ 9+ 9 5 9 6 5 7 7 7 8 4 9+ 9+ 9+ 0O+
HS = 26 6 6 6 5 5 5 7 9 9 9+ 8 6 1 1 - 2 1 - 1 4 - - 7 8
DU = 27 7 8 7 6 7 8 9 9+ 9+ 9+ 9 - - - - - - - - - - 8 9 8
YB = 28 5 5 5 5 6 7 8 9 9+ 9+ 9+ 8 1 - 2 2 2 - - 8 1 - 8 7
VK6 = 29 5 3 4 5 5 7 8 9 9+ 9+ 9+ 9+ 9+ 9+ O+ 9 8 - 2 7 - - 8 7
VK3 = 30 4 4 5 7 8 9 9+ 9+ 9+ 9+ 9+ 9 9 9 8 8 5 - - - 9 9 8 6
KH6 = 31 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9 5 2 - 1 2 1 - - 6 9+ 9+ 9+ 9+ 9+ O+
KH8 = 32 8 9 9 9+ 9+ 9+ 9+ 9+ 9+ 9 9 9 9 8 9 5 - - 8 9+ 9+ 9+ 8 8
CN = 33 - - 2 1 1 1 5 8 9 8 5 3 1 - - - - 3 8 9 9 8 4 1
SU = 34 - - 1 5 8 8 8 7 7 6 6 6 5 1 2 1 - - 8 9 7 4 1 1
6W= 35 1 1 5 6 7 6 5 8 9 8 4 3 - - - - - 4 8 8 8 8 5 1
D2 = 36 2 2 5 - 3 8 7 8 4 - - - - 2 5 1 - 1 8 9 9 9 8 2
52 = 37 - - - 6 8 9 6* 2 - - 1 1 3 6 8 6 4 8 9 9+ 9 6 -
ZS6 = 38 - - - - 8 8 8 2 - - - - - - 4 4 1 1 7 5 3 1 -
FR = 39 - - - 1 9 1 1* - - 1 7 3 - - - 3 5 1 1 5 2 4 4 -
FIJL = 40 5 7 8 8 9 9 9 9 8 8 8 7 7 3 1 - - 1 1 2 2 2 2 3
Zone 00 01 02 03 04 05 06 O7 08 09 10 11 12 13 14 15 16 17 18 19 20 21 22 23
urc -->

Expected signal levels using 1500 Wand vertical array (9 dBi) at transmitter, over saltwater.



15 Meters. Sep., Kureldand, for SSN = Very Low, Sigsin S-Unitsfor verticals. By N6BV,ARRL.

ute -->
Zone 00 01 02 03 04 05 06 07 08 09 10 11 12 13 14 15 16 17 18 19 20 21 22 23
KL7 = 01 - - = = ... ..o -
VO2 = 02 - - - - - - ..o - e
W= 03 1 3 7 8 5 - - - - ..o
W= 04 1 - - - - - - - - ... ... 2 2 1 1 1
W= 05 1 - - - - - - - .. ... .. . . . . 2 1 1 1 1
XEL=06 9 9 8 5 - - - - - - - - . . . . . 1 - 6 7 7 8 8
T =107 9 9 8 1 - - - - - - - . . . . . . 1 4 3 6 6 7 8
V2 =08 7 - - - - - - - - . . . . . . . . . 3 6 7 7 8 8
PA= 09 9 4 - - - - - - - . - . . . . . . 1 4 5 6 7 7 8
HC= 10 9 9 9+ 8 6 3 1 - - - - - - - . . . 1 4 5 6 7 8 9
Pi=11 8 8 8 7 4 5 3 - - - - - - . . . . . 4 5 6 7 8 8
CcE= 12 8 9 8 7 6 1 - - - - - - - - . . . . 2 5 5 7 7 8
luU= 13 8 5 5 4 1 - - - - - - - - . . . . 3 5 6 6 7 8
= 14 - - o oo oL e o e
I = 15 - - - ..o oo oo
UA3 =16 - - - - - 1 3 5B 2 - o o ... ;
UN= 17 1 5 7 8 7 7 7 7 5 1 - = - = = - o o o o ...
U =18 1 2 3 3 3 3 4 4 1 - S
UAD = 19 - - = = ..o oo
4X = 20 - - - - 2 4 5 5 2 . o oo
WZ= 21 - - 1 8 7 7 7 7 5 3 1 - -« -« - o o o o . L L.
W= 22 3 8 9 9 9 9 9 9 8 5 1 - - - - - o oo
JT= 23 4 4 2 1 - - - - 2 - - . -2
VS6 =24 6 7 8 9 9 9 9 9 8 2 - - - - - - - - . . . - 4 1
JAL=25 - - 2 7 9 9 7 6 1 6 S e
HS= 26 8 8 9 9 8 9 9 9 8 6 - - - - - - - - - . - - . 5
DU= 27 8 9 9 9 9 9+ 9+ 9+ 9 4 - - - - - - - - . . . . 8 8
YB= 28 9 9 9 9 9 9 9 9+ 9 8 2 - - - - - - o . . . . - 9
VK6=29 8 8 9 8 9 9 9 9 9+ 9 6 1 1 1 1 - - - - - - - . 8
VK3=30 8 8 9 9 9 8 6 1 - - - - - - - 1 - - - - . 2 8 9
KH6 =31 9+ 9+ 9+ O+ O+ O+ 9+ 4 - - - - - . . . . . . 5 8 9 9 o9+
KB=32 1 2 8 5 4 2 2 6 9 3 1 - - - - - - 4 8 5 1 1
CN = 33 - - - - - ..o 2 .o oo oA
SU= 34 - - - - 2 4 4 5 2 - - o oo
W= 35 - - - S ..o oo oo oo 5 4 1%
=3 1 - - - - 6 5 5 1 - - - - L 4 6
52= 37 - - - 2 8 8 8 7 7 4 - - - - - . o . . . 3 - - .
786 =38 - - - - - 5 8 8 8 6 - - - - o ..o
FR= 39 - - 1 7 6 7 7 8 8 7 - - = .« - o o o oL
FIL = 40 - - - = ..o oo
Zone 00 01 02 03 04 05 06 07 08 09 10 11 12 13 14 15 16 17 18 19 20 21 22 23

utrc -->
Expected signal levels using 1500 Wand vertical array (9 dBi) at transmitter, over saltwater.



10 Meters. Sep., Kureldand, for SSN = Very Low, Sigsin S-Unitsfor verticals. By N6BV,ARRL.
urc -->
Zone 00 01 02 03 04 05 06 0O7 08 09 10 11 12 13 14 15 16 17 18 19 20 21 22 23
KL7 01 -
Vo2 02 - - - - - - - - - - - - - - - - - - - - - - - -
03 - - - - - - - - - - - - - - - - - - - - - - - -
04
05
XE1 = 06
= 07
08
= 09
= 10
PY1 = 11
CE = 12
LU = 13
= 14 = = = = = = = = = = = = = = = = = = = = =
I = 15 - - - - - - - - - - - - - - - - - - - - - - - -
16 - - - - - - - - - - - - - - - - - - - - - - - -
= 17 - - - - - - - - - - - - - - - - - - - - - - - -
18 - - - - - - - - - - - - - - - - - - - - - - - -
19 - - - - - - - - - - - - - - - - - - - - - - - -
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4X = 20 - - - - oo oo
v
W= 22 - - - 1 2 1 - 1 - .o
S T
VS6 = 24 - - - 4 8 8 T 3 - - .o
JAL =25 1 4 T 8 - - - - ..o
HS= 26 - - 2 7 8 8 8 6 - - - - . . . oo
DU= 27 - - - 8 8 8 9 7 1 - - - . . ..o
YB= 28 1 - 3 4 5 6 8 9 8 1 - - - . - o oo
VK6 =29 - - 1 1 6 7 8 6 1 - - - - - oo oo
VK3 = 30 - - - 1 - - - oo oo
KH6 =31 2 8 9+ O+ O+ 9O 1 - - - - - . ..o
KB =32 - - - - 1 2 1 ...
ON = 33 - - - - oo oL oo
SU = 34 - - - oo oo
BW= 35 - - - - - oo Lo
D2 = 36 - - - ..o
52= 37 - - - - 1 1 - S ..o oo
ZS6 =38 - - - - - - - 4 - - - ..o
FR= 39 - - - 1 4 5 8

FJL 40 - - -

Zone 00 01 02 03 04 05 06 O
utrc -->

Expected signal levels using 1500 Wand vertical array (9 dBi) at transmitter, over saltwater.
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160 Meters: Sep., Kureldand, for SSN =Very Low, Sigsin S-Unitsfor verticals. By N6BV,ARRL.
Zone Bgc bi> 02 03 04 O
KL7 =01 - - - - 4
voe =02 - - - -

06 O 08 0 10 1 12 13 1

9 9

15 16 17 18 19 20 21 22 23
9 9 6 5 1 - - - -

NO ' ©h

W= 03 - - - - 2 9 6 4 - - - - - .

W= 04 - - - - 1 6 - ..o

W8 = 05 - - - - - ; SR L R R
6

XEL = 06 - - - - -
=107 - - - - -
08 - - - - -
PA= 09 - - - - - -

= 10 - - - - - -
PY1 =11 - - - - - -

= 12 - - - - - - -
U= 13 - - - - - - -
= 14 = = o o o o -
[ = 15 - - - - - .
16 - - - ..o
WIN= 17 - - - - - - - -
T
19 - - - - - - . 4 4
200 - - - oo
3
22 - - oo
23 - - - - .o
24 - - - oo
25 - - - - - - . 3 5
26 - - - - oo
A
28 - - - oo
29 - - - -
30 - - - - -
31 - - - 2 6
32 - - -
33 - - - - .
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34 - - o oo Lo oo oo .
35 - - - ..o oo oo - e .

36 - - - - - - - - - - - - - - - - -
37 - - - - - - - - - - - - - - - - -
= 38 - - - - - - - - - - - - - - - - -
39 - - - - - - - - - - - - - - - 4
FJL 40 - - - - - - - 6
Zone 00 01 02 03 04 05 06 07 08 09 10 11 12 13 14 15 1
utrc -->
Expected signal levels using 1500 Wand vertical array (0 dBi) at transmitter, over saltwater.
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